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double alpha, beta, gamma;
double x, a, vy, b,

x = xin; a = uin; y = yin; b = vin;
alpha = XpaP{TT] + XpaP[XTT]*x + XpaP[ATT]*
beta = Xpar[T] + Xpar[XT]*x + Xpar[AT]*a + Xpar[XXT]”x“x + Xpar[XAT]*x*:

+ Xpar[AAT]*a*a + Xpar[TYY]*y*y + Xpar[TYB]*y*b + Xpar[TBB]*b*b;

gamma = Xpar[X]*x + Xpar[A]*a + Xpar[XX]*x*x + Xpar[XA]*x*a + Xpar[AA]*a*

+ Xpar[YY]*y*y + Xpar[YB]*y*b + Xpar[BB]*b*b + Xpar[XXX]*x*x*x

+ Xpar[XXA]*x*x*a + Xpar[XAA]*x*a*a + Xpar[XYY]*x*y*y + Xpar[XYB]*x*y*L
+ Xpar XBB]*x*b*b + Xpar[AAA]*a*a*a + Xpar[AYY]*a*y*y + Xpar[AYB]*a*y*t

+ Xpar[ABB]*a*b*b - xout;

double p,

p = (alpha*alpha)iB + beta;

q= (2*alpha*alpha*alpha}/2? - (alpha*beta)/3 + gamma;

double hanbetu = -((a/2)*(a/2) + (p/3)*(p/3)*(p/3));
if(hanbetu > 8){
double r = sqrt(-4*p/3);
double s1, s2, s3;
double theta = (1/3.)*std::acos(3*q/(r*p));
sl = r*cos(theta) -alpha/3;
s2 = r“cosEtheta + 2*PI£3.; -alpha/3;
s3 = r*cos(theta - 2*PI/3.) -alpha/3;
double tmpans = sl;
if(fabs(tmpans-ansl) » fabs(s2-ansl)){
tmpans = s2;

if(fabs(tmpans-ansl) > fabs(s3-ansl)){
tmpans = s3;

delta2 = tmpans,
7 std::cout << "ansl " << ansl << std::endl;
std::cout << delta2 << std::endl;

lelse{

double s1;

s1 = cbrt(-q/2 + sqrt(-hanbetu)) + cbrt(-q/2 - sgrt(-hanbetu))
-alpha/3;

delta2 = s1;

rr std::cout << "ansl ™ << ansl << std::endl;

7 std::cout << delta2 << std::endl;

eturn true;
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